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Please check that this question paper contains 32 printed pages.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

Please check that this question paper contains 42 questions.
e Please write down the serial number of the question before attempting it.

15 minutes time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the question
paper only and will not write any answer on the answer-script during this period.
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wii)  Question numbers 20 to 24 in Section-A are five marks questions.

These are to be answered in about 70 words each.

(viii) Question numbers 25 to 42 in Section-B are multiple choice
questions based on practical skills. Each question is a one mark

question. You are to select one most appropriate response out of the

four provided to you.
qr-H
Section-A
1. m@aﬁﬁwﬁﬁWEE’fmmmﬁaﬂiwwm%? 1
How many vertical columns are there in the modern periodic table and what
are they called ?
2. I SgwER BT 1

What is speciation?

. Es i A ada-Rehei el w1 S guE Hear § wE he
|y ? 1

Why should biodegradable and non-biodegradable wastes be discarded in

two separate dust bins ?

o i S O e it ¥ S e et # o B e W
A 2| 59wy 1 g i 2

“The chromosomes number of the sexually reproducing parents and their

offspring is the same.” Justify this statement.

31/1/1 3 [P.T.O.
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"ot oft A & gS i o STRITER Wi T St 1S SRS R ST e
T % WA T B ¥ 59 e < gy 3 fe ity fewr s
it

“A ray of light incident on a rectangular glass slab immersed in any
medium emerges parallel to itself.” Draw labelled ray diagram to j ustify the

statement.

& T SRR i ) e § v SR oraf 9 e §) 9
S9F gETEe ek g St W aw sl & i Rt = syuga frew
oterer % fore et 2 |

We often observe domestic waste decomposing in the bylanes of residential
colonies. Suggest ways to make people realise that the improper disposal

of waste is harmful to the environment.

TSI T R STel G0 & Wel &1 S et st k! e R

List and explain any two advantages associated with water harvesting at

community level.

TS i TR Wi H,S0, & 443 K o 7 0y 92 st =1e) S17e =67 10 o
SHeh1 aaT-g3 i | g srffsan & @iz szodﬁmmmml
B arett TSR 1 Tt wier fafan |

Write the name and the structural formula of the compound formed when
cthanol is heated at 443 K with excess of conc. H,S0,. State the role of

conc. H,SOy in this reaction. Write chemical equation for the reaction.




10.

31/1/1

aﬂﬁq%ﬁﬁﬁﬁaﬁmﬁﬂa%ﬁﬁa—smaﬁﬁmw%%ﬁmw 2ufy
%ﬁmaﬁ%mﬁmg%@qawgﬂﬁaﬁ%muﬁwaﬁ@
SPITST STt 57955 (i) ofiferes orend (i) THRIH Turer e sy &)

Why homologous series of carbon compounds are so called? Write
chemical formula of two consecutive members of a homologous series and

state the part of these compounds that determines theijr (1) physical
properties, and (ii) chemical properties,

ﬂ%wgﬁa\:aﬂaﬁamﬁ%@—sﬁaaﬁqm%:

aBe, oFe, 1481, 0K, 5,Ca

(i) Eﬁﬁﬁﬁﬂﬁﬁﬁﬂ%m#mﬂwm%wsamw
SolagTe famm fafiay

(i) 5 T 3 o e 35 ) i 9 g o 3w o R

(iii) Qﬁﬁﬁ@ﬁﬂﬁﬁ%ﬁﬁﬁﬂﬁﬁisﬁﬁﬁﬁﬁ%ﬂmm
RIEEESE

Given below are some elements of the modern periodic table :

aBe, oFe, 1481, K, ,,Ca

(1} Select the element that has one electron in the outermost shell and

write its electronic configuration.

(i)  Select two elements that belong to the same group. Give reason for

your answer.

(iii)  Select two elements that belong to the same period. Which one of

the two has bigger atomic size ?

5 [P.T.O.




11, smyfees atrerd wreflt § svee! &1 v fifan | fredt amed & el & 2rft of s
R el AT FEAISTeRT T eitfesh Yorend & e ST it g 7 el g
Het ST W el 2t SISTehaT G G- 1 Ry TiEd B 27 3

Write the number of periods the modern periodic table has. How do the
valency and metallic character of elements vary on moving from left to
right in a period ? How do the valency and atomic size of elements vary

down a group ?

12.  (a) T H GREHS (T ) Wi S sare iR 3
(b) YRSl UiHIT S A Fra yR Ry & 7

(a)  Explain the process of regeneration in Planaria.

(b)  How is regeneration different from reproduction ?

13. (i) 90, T (if) S S % g0 B AT S1-91 S g O ¥ T
Wlw%%wm%ﬁﬁmsﬁw&éaﬁm? 3

Write two examples each of sexually transmitted diseases caused by
(i) virus, (ii) bacteria. Explain how the transmission of such diseases be

prevented ?

14.  3IWfSia @& qon SgEie went § i w0 awh @ fAewarst 5@
qTCTehTerg, I | Sedieh SAequ] o1 Uk 2aTetel oft 1o | 3

Tabulate two distinguishing features between acquired traits and inherited

traits with one example of each.

31/1/1 6




15.

16.

17.

18.

3111

“Torelt TSt TRy oA TR AT wE R Gt seest (v & firar) © & B o ot
SHeh foq Soearelt et o S wemat | femdlt Tersira gy o fom Frafoor <61 ufien
1 Z AT YaTE AR oY Teradr & 36 o i gfe Fifm)

“The sex of a newborn child is a matter of chance and none of the parents
may be considered responsible for it.” Justify this statement with the help

of flow chart showing determination of sex of a newborn.

(i) TvT g9 O, a4 (ii) T g 1 3w e S 9l 2 % veRl &
St FITST | Yook Fereor & 319 I o1 g & fora &1 smeoit o) gt ammsu |

Mention the types of mirrors used as (i) rear view mirrors, (ii) shaving

mirrors. List two reasons to justify your answers in each case.

6 cm S 1 1S fom 5 om B g % ReEl svadel o ¥ e 99 %
e O E 10 om T W R@ ¥ So-u3 1 3w w0k 99 31 s 9
wictersr Y fedrfer, asst o wepfa Fwifa ik

An object of height 6 cm is placed perpendicular to the principal axis of a
concave lens of focal length 5 cm. Use lens formula to determine the
position, size and nature of the image if the distance of the object from the

lens is 10 ¢m.

it /gate qo et 3 T g % Al s B 1 Ieen i o %
fore =T fifv |

State the difference in colours of the sun observed during sunrise/sunset

and noon. Give explanation for each.

7 - [P.T.O.




19.

20.

21.

31/1/1

(a)
(b)

(a)
(b)

(2)
(b)

(c)

(2)
(b

(©)

(a)

(b)
(2)

(b)

TS T &7 SHeR &1 WIS U hl g SET |

T AT T S A T i, g Serstamen # Fafta v
S < STTEYIAT T © | UET 91 & ST shifrg |

What is an ecosystem ? List its two main components.

We do not clean ponds or lakes, but an aquarium needs to be cleaned

regularly. Explain.

“garaEE’ < aftame fefau

forelt <hfirer Skt 310 g C,H,O ® % o 9wl wamaeai sl e
et 39e 7 fafau|

S QT ARt Y et - farg Htam Eite |

Define the term ‘isomers’.

Draw two possible isomers of the compound with molecular formula

C3H¢O and write their names.

Give the electron dot structures of the above two compounds.

TR aT TR YohR & 59 B 99T 3 9Tt oA e (fersieaie)
=t gl ST |
e Shifsre 3 S 9 310 Seaw Hata & fafeand w1 e 3di g ?

List three distinguishing features between sexual and asexual types

of reproduction.

Explain why variations are observed in the offsprings of sexually

reproducing organisms?




22, (a) Tumfm# AB TT C 3l TE=TY 37K 37 & ferfiag|
(b) ﬁﬁmwaﬁm@rﬁﬁwwmaﬁmwmﬁﬁm
$1m)

(a)  Identify A, B and C in the given diagram and write their functions.

(b)  Mention the role of gamete and zygote in sexually reproducing

organisms.

31/1/1 9 [P.T.O.




23.

24.

31/1/1

(a)

(b)

(b)

(b)

YRITT o TEq o IHl T Seoi@ shieg| TRt wrem % e
STYEAT GUT TSN ! Faid § 9T o S HaY ) 23 Giel] SusE
fafau|

I % WTUE ST 1 i & I HHM: 4/3 T 32 AR =t A
TRTS1 Y = 2x10° ms™ B, W (i) 91, (i) S H T < =t

FHifsu |

State the laws of refraction of light. Give an expression to relate the

absolute refractive index of a medium with speed of light in vacuum.

The refractive indices of water and glass with respect to air are 4/3
and 3/2 respectively. If the speed of light in glass is 2x108 ms™, find
the speed of light inl (i) air, (ii) water.

FI3 S A A F 50 om ¥ FH T8 W fud ouEm v R 6 ue
Tl 39 3R-IW F AW Tty el ag =i fifte 21 3@ 3w 6
s < fon yeem R e Efifm) 3@ 9w % @ dwriea wRo 6
G =AT3T | Tt Iugad ©i9 1 IURNT Tk W 1Y T e 35T W
e st w7, 39 5w % o o e i

BH QUM U3 U9 Slfas W 39-9 o Heite e 3 § | 39 TR
o formmoet < weee ferfiaw |

A person cannot read newspaper placed nearer than 50 cm from his
eyes. Name the defect of vision he is suffering from. Draw a ray
diagram to illustrate this defect. List its two possible causes. Draw a
ray diagram to show how this defect may be corrected using a lens

of appropriate focal length.




(b) We see advertisements for eye donation on television or in

newspapers. Write the importance of such advertisements.

HIT-d

Section-B

25.  hIg O TRl Yo WEel # 2 mL UHiTeeR- 3T oieR 9 U ek Hifeam
BTESISH s e 2 | o8 Frafefea S san 2 1

Ll esETee o W19 T T 9 e 19 e
I ¥ |0 & ol § TR o S8 gtm s 2t B

M. & %is Soidt B9 3@ 19 % 99 @0 & o 98 99 Gowe & a9
STt 2

IV. ¥ 7, o STerd! fouet 36e 9raeh & e STt 8 A1 38 gan et B |
T Y R A -

(A) LI 3 II

(B) ILMIIRIV

(C) 1L IV 3RI

(D) IV,I3RII

31/1/1 11 [P.T.O.
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26.

31/1/1

A student takes 2 mL acetic acid in a dry test tube and adds a pinch of

sodium hydrogen carbonate to it. He makes the following observations :
L. A colourless and odoutless gas evolves with a brisk effervescence.
[I.  The gas turns lime water milky when passed through it.

III. The gas burns with an explosion when a burning splinter is brought

near if.

IV. The gas extinguishes the burning splinter that is brought near it.
The correct observations are : |

(A) L1, andIII

(B) I, and IV

(C) T IVandI

(D) IV,landIl

P o 3 TUEHT H1 ST H % RE S & g Tl o O
TR 3 ST 2 mL YR ST S 2 | 9E 39 el | e 2 mL S
Wmﬁﬂﬁﬂﬁ%ﬂm%mwmr%%%aﬁ%ﬁwﬁ%:

(A) Uefifem et e & wes gt Sl § |
(B) Terr goh G WH T T |

(€) T TEhfeeh o1t o I8 WA & &
D) efifee a1t STl o U8 W IR I8 |

12




In an experiment to study the properties of acetic acid a student takes about

2 mL of acetic acid in a dry test tube. He adds about 2 mL of water to it and

shakes the test tube well. He is likely to observe that :

(A)
(B)
(©
(D)

the acetic acid dissolves readily in water
the solution becomes light orange
water floats over the surface of acetic acid

acetic acid floats over the surface of water

7. Tt B 3 U o § 19 W sfe 7 20% Wisad TEgiedss [Sed sEE

I 5T A1 R Y 5 e e feg e E | 1
I Oifem esglass TRERi F |

. o8 A 3y g S 2|

ML «TeR A g W i 31 did &l & |

IV. e e # ot forens o = g ) g S8 fien s g |

T wE D E

(A) LIFII

(B) ILINFLV

(© MNLIVII

(D) LILIIV

31/1/1

13 [P.T.O.




A student prepared 20% sodium hydroxide solution in a beaker containing

water. The observations noted by him are given below.

{5

II.

III.

IV.

Sodium hydroxide is in the form of pellets.
It dissolves in water readily.
The beaker appears cold when touched from outside.

The red litmus paper turns blue when dipped into the solution.

The corect observation are :

(A)
(B)
(©)
(D)

I II and III
IL IIT and IV
II, IVand1

L IL and IV

28. TrwfcrRea ot o1 stemem Hifv

1

II.

L.

IV.

31/1/1

HgHteRTT STfufER & srtufsrn-fism § wrer frene v gam v g e
B ST & T 78 SeATardt 21fifshan 21

TRt ffsRa % sftsan- s e foere o g9 W o
o qitEe T2 g ot 98 Femedt srfifE f)

AT TeRoT Afwfshe < stivfma- e & arer forene v gai oe 569
% e 8 S a1 78 S s ) '

Ao rfufshen o srfvferan-fayor ¥ e fena v gl w wmE o
3 uiterd 7 giar o 7% T el g
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IRE B A A TR G
(A)
(B)
©)
(D)

[qar I
IT T 111
a9 Iv

[aan v

Read the following statements :

II.

1.

When a red litmus paper is dipped into reaction mixture of a

saponification reaction, it turns blue and the reaction is exothermic.’

When a blue litmus paper is dipped into reaction mixture of a
saponification reaction, its colour does not change and the reaction is

exothermic.

When a red litmus paper is dipped into reaction mixture of a
saponification reaction, its colour does not change and the reaction is

endothermic.

When a blue litmus paper is dipped into reaction mixture of a
saponification reaction, its colour does not change and the reaction is

endothermic.

Which of the above statements are correct :

(A)
(B)
(©)

(D)

ITand IT
II and II1
III and IV

[and IV

15 [P.T.O.
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g TR # A fou wr sueey §1 37w i g e st A dien
TR 3 ToT STasaeh FeR Set 57 S |

29.

31/1/1

(1)
(3)
(5)
(A)
(B)
(©
(D)

Hicaad Hohe (2) wifEaw ke

i s (4) ORRrm aere

Hifeam EEgeH FEie (6) TR FeTIES
1,294

1,396

3,596

2,495

Hard water required for an experiment is not available in a school

laboratory. However, following salts are available in the laboratory. Select

the salts which may be dissolved in water to make it hard for the

experiment.

(1)  Calcium Sulphate (2)  Sodium Sulphate

(3) Calcium Chloride (4)  Potassium Sulphate
(5)  Sodium Hydrogen Carbonate (6) Magnesium Chloride
(A) 1,2and4

(B) 1,3and6

(C) 3,5and6

(D) 2,4and5

16




30. = om  fam  awiu e fredh e aeg o i T i X7 o SR U
3* 7 e TR | 9 9 St oW g @ gl 40 om &, T FEfaied § 9 wé wer

EiR

He—40 cm_.___;-ﬂ

(A) I X I w3, Rkt e gl 20 cm 2 |

(B) g X 3tader suv & Sehl wea 3 40 em R |

(C) g X eraact <uvr & Sl a3hat B3 40 om 2 |

(D) I X 30 oiu & el wra 3 40 em 21 1
A student focussed the image of a distant object using a device ‘X" on a

white screen ‘S’ as shown in the figure. If the distance of the screen from
the device is 40 cm, select the correct statement about the device.

!

|]¢-———40 o

(A) The device X is a convex lens of focal length 20 cm.
(B) The device X is a concave mirror of focal length 40 cm.
(C) The device X is a concave mirror of radius of curvature 40 cm.

(D) The device X is a convex lens of focal length 40 cm.

31/1/1 17 [P.T.O.




31. Tl B 4 sraae qdor gr RS -Ae % ey R W vl e € saren
o1 & idfers 9e o oTe e | 9 i wiehd gl o1 ofi arest uW ww e
fory frerer wRtew 3 3 welivify swhiel Bl Ty R Y wsRE &
I 6T | 39 BT 1 -7 347 1107

(A)
(B)
©

(D)

I YU I IS T T =R |

3 U0 Y 9T U Al 2T e =R

3 U a1 9& ST T 379 g T A fer T 7R o SR |
I e U8 Tl 3 A 1Y TC 5 o S wesH =y

A student obtained a sharp image of a bumning candle, placed at the

farther end of a laboratory table, on a screen using a concave mirror. For

getting better value of focal length of the mirror, the subject teacher

suggested him for focussing a well illuminated distant object. What should

the student do?

(A)

(B)

©

(D)

31/1/1

He should move the mirror away from the screen.
He should move the mirror slightly towards the screen.

He should move the mirror as well as the screen towards the newly

selected object.

He should move only the screen towards the newly selected object.




32.

31/1/1

T T ST Shiori o ToTQ shier ¥ TSI STl TenreT ToRteT o vy TR e
5 T ToRET BT = GGgEd! SIS hIv 7 a1 T7Td 10T ¢ 3 W ol |91 3R

1l fou S1gar afershr # e fofa -
FH T&T Li Lr Le
I 300 20° 310
I 40° 250 40°
11 500 310 490
= TR Yo
(A) 1T
(B) 1T
(C) TJII

(D) L I&III

After tracing the path of rays of light through a glass slab for three different

angles of incidence, a student measured the corresponding values angle of

refraction r and angle of emergence ¢ and recorded them in the table given

below :
S. No. £ £F Ze
I 30° 20° 31°
I 40° 25° 40°
III 50° 3 49°
19

[P.T.O.
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33.

The correct observations are :
(A) landIl

(B) MandIIl

(C©) IandIlI

(D) LI andIlI

i 3 SRR T & R el Sem R s e Tged e % fa i

& TR EEel H A udNE Sqa i w g e 1
b
®
) 1D

(11I) av)

A 1
(B) I
(C) I
D) 1V

31/1/1 20




Select from the following the best set-up for tracing the path of a ray of

light through a rectangular glass slab :

(D

L

(11D)
(A) I
(B) I
(C) I
D) IV

311N

21

[P.T.O.
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34. w0 % ST | TR Al g B o vy TgiRad SR 1 S T e
IR B ¥ ey el # sk B qor fetd B ¥ o S Re e @
T | 1

@ (1)

X

(T17) (Iv)

T ¥ Fopeor 1w v qwie e omE R
A I
(B) I
(C) I

(D) 1Iv

31/1A 22




eriment to trace the path of a ray of light passing

While performing the exp

through a glass prism, four students marked the incident ray and the

r diagrams in the manner shown below.

AN

D

o
7 57

(D)

emergent ray in thei

The correct path of the rays has been shown by :

A) 1
®) I
€ 1
(D) IV
31/1/1 23 [P.T.O
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ST s e it 5 R e 5 e &t v s o
%m%mﬁﬁ%m%ﬁwm%ﬁﬁaﬁm

(A)  emmafae oo 3 g 2
(B) 3l oo & wrma 2
(C)  ruEfTa foror & womar 2

(D) mﬁaﬁwﬁﬁw@mwﬂza‘qﬁw%f

In an experiment to trace the path of a ray of light through a glass prism for

different values of angle of incidence a student would find that the

emergent ray :

(A) s parallel to the incident ray
(B)  perpendicular to the incident ray
(C) s parallel to the refracted ray

(D)  bends at an angle to the direction of incident ray




I /L\\\
F, U fz\\

SNy ;

(Iv) =F, U Fg\~

= il F1 gh Rl dw A [ % e S R a9y s
T

(A) FHaa 191

(B) Ha@ldll

(C) LIIFII

(D) LISV

31/1/1 25 [P.T.O.
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Study the following ray diagrams :

an

am g U

T~

awv) = B,

Fy

n-—'--/

h:d i

ok

The diagrams showing the correct path of the ray after passing through the

lens are :

(A) IIand III only
(B) Iand Il only
(C) I,MandIIl
(D) LNMandIV

31/1/1 26




37. o § g i ute anafad Rl § @ = i fRoT @ g St svedd &
et 1 Iie @ E ok R swi Iue o g1 99 giater < e I

FE U fFTsTEEa e 1
]
‘ )
. - s ] 5 . i
5 \W
(A) 1,293
(B) 2,394
(C) 3,435
(D) 1,294

Out of the five incident rays shown in the figure find the three rays that are
obeying the laws of refraction and may be used for locating the position of

image formed by a convex lens :

2F, ' 4 / Mz

(A) 1,2and3
(B) 2,3and4
(C) 3,4and5
(D) 1,2and4
31/1/1 27 [P.T.O.




e 3§ gveT 3 il s ) et womee =1 Ser 1 & gy e e A
9= e s g, s e mr i adi fRu e &

@@ (@

D (1) av)

EEEIRGIELER

(A) LV,IV,ILII

(B) LILIV,V,II

(© LV, IL,IV,1I

(D) LIV,V.ILI

A student after observing a slide showing different stages of binary fission

in Amoeba draws the following diagrams. However these diagrams are not

In proper sequence :
@ ety (111) Iv) V)

The correct sequence is :
(A) LV, IV,ILII
(B) LIOLIV,V,1I
(O LV, IOLIV,1I
D> LIV,V,ILII

31/1/1 28
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L

I1.

1.
Iv.
(4)
(B)
(©)
(D)

e 3 e ot wfsea & forw wet o g -

g Tugenra o el fosty s @ wran 2

fog =iferr <1 dafa St § R 29 & @ gol 9w vesm
T & St 2

forerra @ goreh B & T Yot U o1 gt oAbl B |
ST IS el TG o Yo B SaT & 79 98 T S 5 W |
LIS I

IL I IV
HNLIVaI

IV, 1911

Select the correct statements for the process of budding in yeast :

L

II.

II1.

Iv.

(A)
(B)
©
(D)

A bud arises from a particular region on a parent body.

A parent cell divides into two daughter cells, here the parental

1dentity is lost.
Before detaching from the parent body a bud may form another bud.

A bud when detaches from the parent body grows into a new

individual.

I, IT and III
II, IIT and IV
I, IV and I

IV, I and I1

29 [P.T.O.
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Wqéaﬁaﬁ%awa/ﬁ@mqtgﬁ%ﬁwﬁ%wmmmm%@ﬁ
% fafsr et o1 31eam Hifee

L 3T T YeheRel aTeal § EEY ST E |

L ISt T e i 3 T Sl o aued S e |

1. eI T U7 IHES! & U Sivgatl § aHed 17§ |

V. em oo aun SEINe (IEEE) W A qIed) § UHeY ST

370 wE e €
(A) 131

(B) LIV
(C) 141
(D) M a1V

Study the different conclusions drawn by students of a class on the basis of

observations of preserved / available specimens of plants and animals.

L Potato and sweet potato are analogous organs in plants.
II.  Wings of insects and wings of birds are homologous organs in
animals.

III. Wings of insects and wings of bats are analogous organs in animals.

IV. Thoms of citrus and tendrils of cucurbita are analogous organs in
plants.

The correct conclusions are :

(A) IandII
(B) TandIV
(C) TandII

(D) IMandIV
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You have potato, carrot, radish, sweet potato, tomato and ginger bought

from the market in your jute bag. Identify two vegetables to represent the

correct homologous structures.
(A) Potato and tomato
(B) Carrot and tomato
(C) Potato and sweet potato

(D) Carrot and radish
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In the figure, the parts marked A, B and C are sequentially :

A

B B

(A)  Plumule, Radicle and Cotyledon
(B)  Radicle, Plumule and Cotyledon
(C)  Plumule, Cotyledon and Radicle

(D)  Radicle, Cotyledon and Plumule
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